W7 I i A
120
35 70
c5 . R
s WA —h M12
@010 @I
@D6
s O
S
o
op 2 Cc10
@D10 5
c15 S
120 100
700
TEEER
997
120,
10
g
o
S
IS
~
>
3
~
>
I
c10
700 297

2@140

1= CEERR AR

997 997
@D6
o o
3l 8
o
S @pio “
1" \9
° O %)
e
S
o
3
3
S @Dn10
30 498 499
45 | | 3@130=390 | 150 | 215
ENRFERH K
@D10 @D10
@Dnio
o
~
=
3
@nio S
2
3
b
S
(S}
=
ol
@ <
30
215 | 150 | 3@130=390 45

SREMT X

D10 L=1397~1676 n=12

805(815)

R50

%

613~882

(D6 L=1415n=8

1415

(3D10 L=185n=6

a—F— R

D6 L=400 n=4
185
200
§ R20
JERRSE IR R AR D
D10 L=442 n=1
442
ME#ERE:30. 2.26
WEL KC+—L T #(90° 1—+—)
HAR H=900
SEEE 726 kg

EAREMHEARE V)ENVI)—H




